sin (180) = 0

- cos (0) =1

cos (30) =(V3)/2
cos (45) =(\2)/2
cos (60) = 1/2

cos (90) = 0

cos (120) = -1/2
cos (135) = -(v2)/2
cos (150) = -(V3)/2

cos (180) =1 CO ‘U\(

cos (0)=1
25. To find the sum or roots/ product ofm N " A—

y=axZ +bx + n: \N “

-yt e &
’LS?&Q_ y, Pad
Roots:/-lz 4 Formula

b_+42)
a 1

Product of roots = -2 +*4=-8 | Ll - 1

Sumofroots= -2+4=2 |

26. asin(bx+c) +d or acos(bx+c) +d

Where, a = amplitude, b = period, ¢ = horizontal displacement and d = vertical displacement



